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Answer the following questions: Al AWy e waal

Write the scientific term for the Jhall palad) plbaaad) Guis) -1
following statement : Al 8Ll Jo

Concentration of a saturated solution cle (e padiall Jolaall 3 53
of a salt which is slightly soluble in . . .

die oLl o)
water at a certain temperature. P SO

.:\jﬂmﬁ‘)\ﬁ:\;)d

Write the structural formula for: sailil) Agal) Guis) -2

Alpha amino acid. o sinal W paaald

Choose one scientist of (a) or (b) (<) S (1) laladd sa} A4} -3
and mention his contribution in Aol sl gl Sy ¢
the field of chemistry: el ale Jla A

a) Ostwald Migad
b) Wohler




Give reason for: = PR P 12}

Elements of the first transition ) AEY) ALl jealic
series are considered as ideal
catalysts.

Show by balanced chemical Ailbassh) e laally g -5
equations: paas Jead 14 jial)
Conversion of Salicylic acid into
aspirin.

Choose the proper answer: : daall ey gl -6

On heating two molecules of methane JE Oe Ofiaga o e
gas over 1400 °C in the absence of air, 1400 °C e siSi aie (lisal
the following cam be formed:

@ Black Carbon

Carbon dioxide + water vapour ela Jlay + (s S ansl
(o) Water gas Sl
(o) Acetylene + Hydrogen O s+ bl




SE®7 . X and Y are two insoluble salts in sl 3 s Y AU Y X -7

. water. The compound (X) is a sl X Sl
yellowish  white precipitate that : L
dissolves slowly in ammonia solution, Dsbae oo 9 Jivas
The compound (Y) is a yellow cad ) Y S pall g ¢ palial)
precipitate that doesn’t dissolve in Solal Jglae 3 st Y iaal
ammonia  solution.  Write the . .
molecular formula for the two O oall Ay o) Ayl i)
compounds.

(e aad) Lisdlaa midi -8

Our factories produce a lot of e O el gl

polymers such as: OHsA A

a) Poly Propylene Crodiu Ao~

b) Poly styrene " N
c) Poly ethylene 2,58 Jdl) s

d) Poly vinyl chloride ol Ae &

) yadd gall o3 fpa il A

Choose two of these polymers and
mention one use of each.




A monoprotic weak acid whose
concentration is 0.1 M and its
ionization degree is 0.02 mol / L
calculate its pOH

ossoM galal Camin e -9
0.02 4.\33 da 0.1 M o 38 5
43 pOH 4w sl mol /L

Choose the proper answer:

To deposit g/atom ( mole ) of a metal
(X) from one of its compounds , an
amount of electricity = 3 Faraday is
required. So, that compound will be

(5] ¢l 2) g fatom o 53
O AeS e)'l,' X 38 e
558 S5 8 3 F By 5e)

%0 O

X0, @
X0 (5)

Give reason for :

Anode coating is better than cathode
coating in order to protect iron from
corrosion.

Dok Wl g -1
Lhaill e Jazadl 450 oY1 Al
JSE e dyand) 28 ) 40 IS




=m"12. Choose one phrase of (a) or (b), (<) o (1) cuibad) aaf 580 -12
. and name the compound that it S5 53 S pall ) iiS)

expresses:
P taale

(il g3 S el sag i) -
b) An isomer of ethanal. JBENT (S al ey ) -

a) An isomer of methyl benzoate.

(_Ql_l;]estionsh(13 —15): ) :(15 = 13) e i)
e graph represents the o .

relation between the Sal] (ol gl Jia
atomic number of some f”‘m sl ¢ 4850
elements and their a5 palinl] o]
common oxidation s e
number. Answer the i) 08 2
questions (13 - 15) o (15 - 13

(o]
+

Al awslll e
-t ~
+ +

—
+

~B¥13. Determine the atomic number of @A aall aa - -13
- the element that doesn’t represent a S Y A yeatdl
transition element.

L AMEY) yeabiall e

From the graph, determine the atomic Gl S e g oAi (14
numpers of two metalg used in 538 (ya (a1 A L3N Slac)
making an alloy used in the

. JRECIRPATRY
manufacture of railways. Joo o paind

R 2 h \\“ L5‘<m“ o\.x},ﬁ 2<Hm

AR
ey




Determine the atomic numbers of
two metals used in making alloys
used in manufacturing of jet air
fighters

O A AN slac) &3 415

(_é ul.ad;ﬂ.mg J.a.al.ud\ RS %)
il delical @il Jae
ABLY gl

Choose one question of (a) or (b)
to be answered:

How could you distinguish

practically between:

a) Concentrated sulphoric acid and
concentrated phosphoric acid.

b) Sodium sulphite and sodium
sulphide.

-16
tagde alg ¢ (@)
5 5Soal iyl aes -
S el el st sl aen
5 pspgaall iy S Jslae—c
s gall oy 5€ Jsla




Unsaturated gas produced from oo U e el <17

thermal cracking of petroleum elitiad g all sl

products. Show how you could r ik S
prepare it in the laboratory, and draw OSa S gy .yl

the apparatus used with the balanced
chemical equation.

18. A sample of hydrous barium chloride sl 2 lS e dipe -18

(BaCl, .XH,0) of mass 2.9603 g is (XH20 . BaCly) < agial
s Bady (id 2.9603 g Leals

L .2.39230 aic lahs i

molecular formula of the hydrated Ba =137 ]

strongly heated until its mass becomes
constant at 2.3923 g. Write the

salt. [Ba=137,CI=355,0=16 ,H=1] [C8=3550=16, H=1




Choose the proper answer:

By heating Iron Il sulphate in the
absence of air, two gases are
produced and is formed.

@ Iron Il oxide
Iron I11 oxide
@Magnetic iron oxide
@Iron I11 sulphate

: Aagaal eyt al -19
I aaal) el o€ cpdid
aelaly ol sell (e J jra
Os5Shs ()l

Il 3s 208l ()

I s 2esl ()

‘;ueku.&nﬂghﬂ:\ulsi @
1y S8 (0

Choose one scientist of (a) or (b)
and mention his contribution in the
field of chemistry:

a) Daniel
b) Markownikoff

3 () slaladt aaf i -20
ald g3l Hgall S3g (<)
a4
Jlasla =i

Write a scientific term for the
following statement:

A chemical reaction occurs by
transferring an electron or more from
one of the reactants to another
reactant.

) sl cas) 21
Al Bl Ao gy
S s A JuEl 5 Jelis
S edlelind) aal e i)




=='22. Choose the proper answer:

The color of bromothymol in a solution
whose pH =5.51s

Red
Yellow
Colorless

Blue

s Aagaal ey il =22
& Jsadisagdll osl O

b (D)

Give reason for:

Sodium chloride solution is
neutral to litmus solution.

: Ugg W Je -23
p s sall 3 I8 Jglae
e drpa e LAl Joleia

Write a scientific term for the
following statement:

A compound produced from phenol
nitration and wused in explosive
industry.

—alal) mlhad) uis)-24
240 5Lt s J
Jsidll 3 i e i oS s




Choose one of the following
conversions (a) or (b) and show by
balanced chemical equations how it
can be carried out:

a) Benzoic acid into benzamid.
b) Iron 11l chloride into Iron Il

Al ey gatl) aal 80 225

¥ aeally G g ¢ (@) 3 (\)

488 4 Jial) Apilpassl

hgas

el il aes Jgai -
.l Hi

sl )51 Jead —
[ [ETECNRIWES |

o 26.
[ |

Explain — without drawing — how
copper can be purified, showing
how from impurities are removed.

S — any O — zodl =26
gl e aladll 488 Sy
e oalatl A T ga ¢
4 53 sa sall L 50




Show by chemical equation how
can you get: Meta chloro- nitro
benzene from benzene.

Jpanl) A eNalaally g g-27

O (g i gydlS U r Ao

Give reason for :

Water isn’t suitable to remove fat
spots from textiles.

-28
e Agiaall g8l ) oL

Write a scientific term for the
following statement:

A branch of science that is concerned
with the study of the methods and
devices used to know the composition
of matter.

48 5Lt LA:— Jiah
s € 4d yral 3 36l g ¢




e 30.
[ |

How would you explain:

Corrosion of anode in galvanic cell?

*‘J.uaﬁl.q

-30

dulalall 4al 8 oy <K

31
|

Choose one of the properties (a) or
(b) and give reason for it:

a) The electronic configuration of
chromium and copper differs
than other elements in the first
transition series.

b) The relative constancy of the
atomic radii of elements in the
first transition series.

ey ¢ (<) o (1) s

£

= il g g Sl Ay -
S o s s
LY AEnY) 5 el palic
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Write a scientific term for the
following statement:

Increasing the percentage of iron in
its ores by removes impurities and
strange substances by means of
surface tension and magnetism.

it el el s -32
A0 8 jlall e g
clla 3 apaal) doi 30l
3l 3 sl g 30 iy
Juailly aladl i silly

=='33. Choose the proper answer:

In the following reaction:
CH;COOH < CH5COO + H’

When adding a little amount of HC#, the
concentration of

(a) The acetate increases
The acetate decreases
(o) The acetic acid increases

(D) The acetic acid decreases

: Aagaal ey il -33
: Aul Jela)

CH;COOH =—

CH;COO + H”

HCL (3o Jil8 d8liz) aic
G 58 55w
COR) 58S 5 Ja

CLlall (aea 38 553 5

Sllall (aes 58 5 J4




Question (34 — 35):

A monohydric aliphatic alcohol has molar mass
74g/mol[C=12,0=16,H=1]

:( 35 — 34) o ALY

JS guugd) salal Al Jgas
74 g/ mol 4 gal) 43lic
C=12, 0=16,H=1

=m 34. Write the molecular formula for
- that alcohol.

-34
Al A Al ddal) s

What is the effect of adding
acidified potassium permanganate
to two of different isomeric forms

of that alcohol?

-35
p ol gl Cililaia
Oa iy gea le Auaaaal)
cAl &gt Jlesd




L8™36. Choose one of the two questions (<) (1) cellpud 2a) J-n\ -36
. (@) or (b) to be answered: Ade caal g

ot : il 5 gae S o
a) An aliphatic organic compound YA Gl pne o

(A) doesn’t dissolve in ¢ S0 HoSO, b sy
concentrated H,SO,, but reacts ol g g B Cly g Jeliy
with _CIZ gas in direct sunlight SO B Sl L'js.a il
forming a compound (B) that T \ "
reacts with caustic soda forming e Bl haguall e delis
compound (C) which in turn &) dsaiy Al C Sl
can be converted to K,Cr0; dilials awaaltivuy!
acedta;dzhydec b)é) adding Sl
acidified K,Cr,0- . . .

: A, SLS el el pall L
What are the chemical formulae - CMJQ 5
for the compounds (A&B)? '

L A Wl s seme € o

b) An aliphatic organic compound
(A) having pH slightly less than
7 can be reduced by hydrogen Iy ool Jig
in the presence of copper die uladll cilag <
chromate at 200°C f_ormlng a s B oSl G £200°C
compound (B) that is converted . )
into acetaldehyde by adding Ak waaltedl G s
acidified K,Cr,0O; frall L daeadl KyCr Oy

What are the chemical formulae for A B GasSoall Ll

the compounds (A&B)?




Explain the following:

Nitro compounds are extremely
explosive substances.

¢ i MMy -37
3aad g yill S ye (583
ey

What is meant by:

Chemical inactivity

Write the structural formula for:

Ester contains two carbon atoms

Al ddnal) as) -39

058 OF Y o s siag JiuY




Choose one property of (a) or (b)
and give reason for it:

a) Ammonium chloride solution is
acidic to litmus solution.

b) Sodium carbonate solution is
alkaline to litmus solution.

O] Cpialdd) o id0-40
Tl Jleg ¢ (<) S ()
—aen assigadl 3 sl Jslaa -
puadl) dbe Fapa e sl
s 588 g2 guall ligy S Jglaa -
paaidl) sle Axpa e il

=='41. What is meant by:

Contact process in preparation of
sulphoric acid.

D plaay dpaiall L -41
. H,SO,

==' 42 Choose the proper answer:

On adding 2 mol of hydro- bromic acid
to propyne is formed.

@ 1,2 dibromo-propane
1,2 dibromo-propene
(o) 2,2 dibromo-propane
(o) 2,2 dibromo-propene

:dasaal Ly il -42
Uaea e 2 Mol 4dls) aie
bl ) clia g g el

Ghsn a9 QW —2,1
O s S —2,1

Ohsn sy 0 S -2,2

R R se9 0 S -2,2




Explain the following:

Discoloring of brown iodine when
it reacts with sodium thio-
sulphate solution.

¢ i Loy -43
delis vie il 25l o) s

p 53 sall Dl 1S 55 J slae pe
£ el Asbeally @3 Lo ga —

Choose to answer one of the two
guestions (a) and (b):

An amount of electricity of 10000 C
iIs passed in AuCl, solution.
[Au=196.89u,Cl=355u]
a) The mass of the deposited gold.
b) The volume of evolving chlorine

Al e Llay) il 44
(<) S (1) Ol all e
LSl e 43aS )l ya) 220
Jslse 410000 C la laia
) AuCe,
Au=196.89u |,
Ce=355u

G yiall aadl) 4B




Write the mathematical G b)) el ISV -45
expression of the equilibrium delall Kp GV i e g
constant K for the following sS4l G il
balanced chemical reaction : Ny + 3Hag = 2NHs

Nag) +3Hzg = 2NH3z(

Then show the effect of lowering chmn 1S ‘:J:_- @kﬁ uj:

the pressure exerted on the sl
reactants on the produced
amount of ammonia.

uuu@}db ULA.ADJJI U.Abi &0
















